PRI e 25 A T S et g

http://www_slqgd.cn

o A =
o 4= \ I / =112 T7/ BERHS
SIMCEETHAR)/ BRI
~
MHS[]3% %l|(216 ~ 125) ]
RIS/
e MHS[J3-16 | MHS[]3-20 |MHS[J3-25 | MHS[]3-32 [MHS[J3-40 [MHS[J3-50 |MHS[]3-63 | MHS[]3-80 MHS[J3-100MHS[]3-125
fiT#% mm 16 20 25 32 40 50 63 80 100 125
A =R
(0 S v 0.2 ~ 0.6MPa [ 0.1 ~0.6MPa
RS i -10 ~60°C
TR +0.01
e RS 120c.p.m [ 60c.p.m 30c.p.m
250 N
eI pediail
N SR e 14 25 42 74 118 187 335 500 750 1270
) FFHIN ey B 160 280 470 820 1300 2040 3590 52500 78000 1320
JE /)0.5MPa
ek 0 90 210 360 620 970 1550 2800 4000 -0 -
HE - S Rmm 4 4 6 8 8 12 16 20 24 32
KATEFRTREMM 0 100 100 120 160 200 280 320 400 480 64
A N2 Re M3 x 0.5 M5 x 0.8 g 1y 3g
TET PN T IR R

{E) FFFIMETHIIERE Ty, 216 — 025/ £l BEL = 20mm, 832 — @635 i L = 30mm,

080 — @125 4 A B5L = S0mmikH %L i

[5 242 8 A e
- —— — =2
T Ea(mm) Tos R _dihcr) WAEFRBSR
BERTRAE ig-gg-gg-gg F | s (FKM) #14&(mm) | 16 - 20 - 25 | 32-40-50 - 63 - 80 100 - 125
NN Rathad S | ARSI MHS3 MON - MOP | Y594 - Y694
%pﬁiﬁ 3K MHSL3 M9B - F9BA Y7N?N-Y7EA
M9N « MOP - M9B « FONW
3 M N MHSJ3 —
(LB MHS 3 3 —[32] D [ ]~ [MON] [ ] [~ &terer
=2 I
[FRAER - K1TT2EY] MHS 3—200D —[M9N s [1r
i *n n4~
Toin = | AR WL £ + 3B Al 2032~0125,
L KR 16 | 16mm
20 | 20mm W
= 25 | 25mm
9"%2)?7."@ (%ﬂé) 32 [ 32mm l cB .7 B O P
(5
20 Taomm™ Lgpyrms (T
MHS3 - 16D ~ 25D 50 [5omm_ T rar
63 | 63mm_ EILT| (ygsy)
SO0/ 8O e, @5
1000 100mm0O i ek fe e N
125 [ 125mm  KidZ-0.5m,
0 L-3m, Z-5m
O f3l: Y59BL
SWAIEL5
(P 1A)
6-M3x0.548 475 TB A4
(T T2 9881 8 AB
\¢ j% 2 ||
% =5k
QLiSor S8 g
ey <2 -
OF %> EE x
Rt
4
N, AR
NA :’IV’ I G
P.C.D : R (&4124L)
3-0SA il FLHFILILESBIESC
P.C.D: R (%#1L)
e A [aB | B [cB|[Dc|[po[EC[EO|FX|[FY[Fz| G [ 1 J [ K [NA NB P Q| R
MHS3-16D| 35 | 32 [ 30 | 11 | 15 | 17 125( 11 | 3 [ 25| 4 [10 | 4 | 8 [5n98 . | 2 [Max05| 6 | 25
MHS3-20D | 38 | 35 | 36 | 13 | 18 | 20 14513 | 3 [27 | 5 [ 12 | 5 |10 | 6n98 . | 25 | M5x0.8 | 7 | 29
MHS3-25D| 40 | 37 | 42 | 15 | 21 | 24 10 (17 |145| 5 |28 | 5 |14 | 6 |12 [ 690 | 3 |Msx08 | 8 | 34
e SA[sB[sc[TB] UA [uB VA VB WA XA XB
MHS3-16D | 3.4 [ 65 | 8 | 5 [M3x0.5( 4.5 | 2H9* 0% 17H9*0043 | opg*0025 [ 2
MHS3-20D | 34 | 65 | 95 | 6 [M3x0.5| 6 | 2H9*00% 21H9*3092 [ oHg*0.025 | o
MHS3-25D | 45 | 8 | 10 | 6 |M4x0.7| 6 | 3H9*30% 26H9*30%2 | 3Hg*00%5 | 3

http://www_slqgd.cn




SIN(3F18): MHS3Z 5

SMERSTE (ZEX)

| MHS3- 32D~80D |

http://ww.slgd.cn

CB CA

BEAR: P

BE NS P
(B 5F)

(e 1) 28
AA oVA % VB
6-TAIZLETB AC,.. AD
(PRI 2R AL) 5le ‘
sle Blo M=~
= = EE
EE E|E §
| o
O . ——] ®
S|
‘::& e ﬁ] 4’—,_—]
NB “lw
|NA| . G 3-UA 240 UB
3-gSA AL AL oSBSC P.C.D : R (%42 4L)
PCD : R (%%#4L)

Be [AA[AB[AC| B [CA[CB[DC|[DO[ECTEO[FX[FY[FZ[G [ I ] J]K L M [NAT NB
MHS3-32D | 44 | 41 | 3 |52 | 8 |16 |28 |32 | 8 |12 |22 [195] 5 [305| 6 | 20 [ 9 [2H9 *Q0%°[ 2 | 14 [8h9 § ..
MHS3-40D | 47 | 44 | 3 |62 [ 9 [ 17 |31 [ 35 [ 10 | 14 [265[235] 6 [32 | 7 [ 21 [ 9 [3H9 *Q0%°[ 2 [ 16 [8h9 § ¢
MHS3-50D | 55 | 52 | 3 |70 | 9 [ 20 |35 [ 41 |11 |17 [ 31 [ 28 | 6 [375| 9 | 24 | 10 [4HO *00%0 | 2 | 18 [10n9 § ,.c
MHS3-63D | 66 | 62 | 4 |86 | 12 [ 22 | 43 [ 51 [ 15 | 23 | 38 (345 7 | 44 | 11 | 28 | 11 [6HO *0050 [ 3 | 24 [12h9 § .o
MHS3-80D | 82 | 77 | 5 |106 [13.5| 27 |53.5(63.5(21.5(315(47.5(435| 8 |56 | 12 | 32 | 12 [8HO *00%€ [ 4 | 28 [14h9 § .
B 0 P [a[R[sA[sB[sc| TA [TB] UA [UB VA VB WA [we] XA [xB[YC
MHS3-32D | 45 | M5x0.8 | 11 | 44 |45 | 8 | 9 [Max07| 8 |M4x0.7 | 6 [3H9 *002° | 3 [34Hg *0.062 3H9 *30%° | 3 | 6
MHS3-40D | 45 | M5x0.8 | 12 | 53 [ 55 [ 95 [ 9 [M4x07| 8 [Msx0.8 | 7.5 [4H9 *00%0 [ 4 [42Hg *0.062 4H9 *00%0 [ 4 [ 8
MHS3-50D | 5 | M5x0.8 | 14 | 62 | 55 | 95 | 12 | M5x0.8 | 10 | M5x0.8 | 10 |4H9 *30%0 | 4 [52Hg *0074 4H9 *000 | 4 | 7
MHS3-63D | 55 | M5x0.8 | 17 | 76 | 6.6 | 11 [ 14 [M5x08| 10 | Mex1 | 9 [5H9 *00%0 [ 5 [65H9 *0074 | 25 [5HY *0030[ 5 | 75
MHS3-80D | 6 | Rcl |20 | 95 | 66 | 11 | 19 | Méx1 | 12 | Méxt | 12 [6H9 *30%0 | 6 [82H9 *0087 | 3 [eHo *00%0 | 6 | 8

CB CA
MHS3- 100D - 125D | N P
(f=URHIT)
BE N P
(=) 25
6-TAUZLRTB L
(P T Ak P ML) ACu—18 VA I VB
(O} ]
rfj
E|E
£E
fas]
P~ P N
ol
5 e
“hom
I, & 3-UA 12477 UB
3-0SA il LAl #SBIRSC P.C.D : R (%HE124L)
P.C.D : R (%%4L)

ms [AA[AB[AC| B [cA[cB[DC|[DOJEC[EO[RX[FY[FZ]G [ 1 [J [K L NA NB
MHS3-100D| 96 | 90 134| 18 [306| 66 | 78 | 28 | 40 | 59 | 54 | 10 | 63 | 15 | 38 | 15 [8H9 *09%6| 4 [ 34 [18h9 O .
MHS3-125D | 122 | 114 166 235 38 | 82 |98 | 30 | 46 | 74 [ 68 | 12 | 84 | 18 | 52 | 21 [10H9 7036 40 [22h9 § o,
BES §) P Q[ R[sA[sB[sCc] TA [TB|] UA [uB VA VB WA wB XA XB
MHS3-100D| 7.5 | Rcls | 23 [118 | 9 | 14 | 21 |[M8x1.25| 16 (M8x1.25| 16 | 8H9 *99%€ | 6 |102H9 *0087 gH9 *9-036
MHS3-125D(10.5 | Rc% | 31 [148 | 11 [17.5| 34 [M10x1.5| 20 [M10x1.5| 20 |10H9 *3-9% 130H9 *5-100 10Hg *0.036

http://ww.slgd.cn



http://www.slqd.cn

SINEFE) (FATFFHEY): MHSO3R 3!
SMERSTE (ZX)

['MHSJ3-16D~25D |

6-M3x0.582 4 TB 3-M4x0. 7424 EB

P 22 123
Ptk 2 FRAZE FX. 'P.C.D.R (Z3:HI24r)
%)
a olo .
= 1 |wW S
E =lE ®
P K=
@3H9 0925 153
<
I ~ w2
8| 5 M oWAZEL.5

P
(FHRMHE )

go
*% 3 AD AE
P.C.D.R (%Z:H4L) Y

(mm)
Q|R|SB[TB] WA

M3x0.5 | 6 |24 |6 | 5 |17H9 *5%4®
7
8

MHSJ3-16D |46 |16 |27 |30|7 |14 |17.5(19.5|7.5| 9.5(|12 |44 |36 |10 | 4 |5h9 $ a0
MHSJ3-20D |49 |18 (28 (36|7 [14 |20 |22 |8 [10 [15(50 |42 [12 6h9 3030 M5x0.8 296.5| 6 |21H9 *3%52
MHSJ3-25D | 55 | 20 |32 |42 |7.5[17.5|23.5|26.5|9.5|12.5 |18 | 59 | 50 [14 6h9 3030 M5x0.8 34(6.5| 6 |26H9 *3052
v 3-UAIZL 5 UB
[MHSJ3-32D~80D || &masisTe p AN
: CB CA / (Fi5HF#H) FX
$ 3-YAIZLEYB

N

N
5}

AA
i AA|AD|AE|B [CA|[CB | DC | DO |[EC|EO |[FX|HA[HB|J |K NB [¢] P
4
5
6

w

olo 2z
ap <EE
T|EE
g 5|ty
KIE = i —

L
<

P
3-gSAILILIZSBIESC (FHgHlmA)

AC||, AD AE
PCD.R (%AEH4L)

AA

7%il5  |AA|AC|ADJAE|B |CA | CB|DC |DO| EC | EO FXHA |HB|J |K L NB |[O| P |Q|RISA|SB|SC| TA [1B| UA [UB] VA |VB WA WB| YA [YB

MHSJ3-32D| 63

M
3 [24]36] 54| 95|19 [31.5[35.5/11.5[155[22| 76| 65[20] 9[2H9*9%(2 | 8h9 8 56 [4.5| M5X0.8 [11[4414.2(8 | 7 [ M4x0.7 | 8| M5x0.8 |10 [4HO%| 4 [34H9™)%? 2 | M4x0.7
MHSJ3-40D| 66| 3 |26]37| 62/10.5(19 (36 |40 |15 |19 [26]86| 75[21| 9|3HO'%|2|8h9 3 1qq |45 MEX0.8 [12[52/4.2(8 | 7 |M4X0.7 | 8| M5X0.8 (10 4HQ*300] 4 |42HG"B02 |2 | M4x0.7
MHSJ3-50D| 80| 3 [31|46| 74|11.5(26.542 |48 |18 |24 [32[103| 88 2410 [4HY'0|2 10093 1o [5 | M5X0.8 |14/63[5.1/9.5) 8 | M5x0.8 10| MBXL |12 [5HO*S| 5 |52H9"E™ |2 | M5x0.8 |10
MHSJ3-63D| 91 4 |37[50] 92[13 [28 |51 |59 |23 [31 |401125[106[28 11 |6H93%%0[312h9Y 04 |5.5| M5X0.8 [17]78]6.6 |11 | 8 | M5x0.8 [10] M8x1.25(16 [6H9*3*®| 6 [65H9'S " [2.5| M6x1 |12
MHSJ3-80D[108| 5 |46(57112[14 [31 |63 |73 |31 |41 [500158[13032[12 |8HO'39% |4 |14h90 5|6 | RcL/8 [20[98/6.6|11] 8 | M6x1 [12| M8x1.25|16|6H9"0 | 6 |82H9"0 % |3 |Mex1 |12
CB 7. P
[MHSL3-16D~25D]| Ei (FRRE)
X
m]
P
6-M3x0.582 4 R TB (FA5Hm )
(PR 2o FIZ L) (AA) 225 SWAZL5
3-gSAITILIZSBEESC 3 AB VAL VB

P.C.D.R (Z3H4L)

ST o] 5

VS

=

I

(FFIEO)
(FIIFEC)
[

i e ¥
7 1 s
(]
4 08(3 ‘
- == v
— AEE - \—
= | —
NB sl 2 AD
T
NA, 2 I
N
BD H, G

(mm)
NA| NB [NC[O| P [Q|R[SA|sB|sC|TB] uA | vA |vB] wa XA [xB
[ 85h9 3 ga0| 502 [M3x0.5|6[25[3.4[6.5[15L] 5[JM3x0.5|2H9'0 ™| 20J17H9 *§***|2H9 "3 | 20
7
8

%05 | AA| AB|AD |BA[BB|BC [BD|CB [DO|DC |EO|EC |FX|FY |FZ| G |H| I [J
MHSL3-16D|43.5[40.5[28 [B0[40B0.6[12[14 [23.5[18.5/13.5[18.5[12.5[11 [B(B0.57 |4 [10
MHSL3-20D|46 [43 [29 [B6[45(B6.6[16[14 [26 |21 [14 [190/14.5@3 [BB2 B [4 [12
MHSL3-25D|49 |46 [31.5{42|52|42.6|19(16.5[30 |24 |16 [10 |17 [14.55 [34.2]7.8/4.5]14

L1109, ga0| 7C]2.5[M5x0.8| 7[[29[3.4{6.5[18L] 6[M3x0.5 | 2H9'0 2| 20J21H9 *§%2[2H9 *39%| 200
13[6h9.0 030 7 |3 |M5x0.8(8/34[4.5]8 | 8

EAEIRIES

o

M4x0.7 |3H9'09%| 3 |26H9 *5.%?|3Hg *39%| 3

http://www_slqd.cn



SINEFE)(EATFFHAE): MHS3Z 5

SMERSTE (ZX)

http://ww.slgd.cn

| MHSL3-32D~80D | cB,ca P
E E=re)
3-gSAITILZSBIESC <@\
P.C.D.R (%#:Hl4L) L ]
p 3-UAEUB
6-TAIBLETB (FI&Hmn) P.C.D.R (Z4HIRE0)
(R (AA) SVAZEVE
AC AB
<=
JR o S -
22 S
g
<t
sBE
NB| | M.U:, AD
NA H | G
BD
(mm)
LR AA | AB | AC |AD |BA | BB | BC | BD | CA|[CB |DO|DC |EO |EC | FX |FY |FZ| G | H | J K
MHSL3-32D | 58 [] 55 ] 30|35.50 5200 7200 52.600 240| 80|20 (42 134 022 [J14 [22 [J19.50 50 [39.60)10.40 500 200/ 90
MHSL3-40D | 64 [ 61 [ 30|38.50 6200 820 62.600 300| 90|22 []47.5(137.50) 26.5[] 16.50)26.5[]23.5[0 60 42500 13.50 70 210 90
MHSL3-50D | 77.50] 7450 30|46.50 7000 1040 70.600 320| 90|29 060 46 36 22 31 [J28 [ 60 [51.30017.700 80 240| 100
MHSL3-63D | 89 [ 85 O 40|51 [ 860 1200 86.600 400| 120/30.5070 M54 [42 [J26 [38 [34.50 70 [58.5019.50 100 280| 110
MHSL3-80D 116 |111 | 5 |70 |106 | 140 |106.6| 50 | 14 |37.5|80.5|60.5|48.5|28.5|47.5|435| 8 |785|235| 11 | 32 | 12
iR L M | NA NB [NC| O P Q | R [sA|sB | sC TA B UA uB VA VB
MHSL3-32D 2H9*%%5 | 20| 160| 8h9300ss | 100| 4.500 M5x0.8 110| 440 4500 80| 80| M4x0.7 | 80| M4x0.7 | 60/3H9*3%% | 3
MHSL3-40D 3H9'%% | 20| 180| 8h9900ss | 1000| 4.500 M5x0.8 120| 530] 5500 9.5 9.5[1 M4x0.7 | 80| M5x0.8 | 1001/ 4H9 *3%° | 4
MHSL3-50D 4H9% | 20| 200 10h9903s | 120[ 5 O] M5x0.8 140| 620| 5500 9.5 9.5[00 M5x0.8 | 100/ M5x0.8 | 1001/ 4H9 *3%° | 4
MHSL3-63D 6HO'S%® | 30| 260| 1209.90ss | 140| 5.50 M5x0.8 170| 760] 6.600 11 [] 17 [ M5x0.8 | 100| M6x1 120|5H9 '3 | 5
MHSL3-80D 8HOO®S | 4 | 30 | 14h900s3 | 16 | 6 Rc1/8 20 | 95 |66 |11 |23 | Mexi 12 | M6x1 12 |6H9 'S | 6
I WA | wB XA | xB | Y CB CA P
MHSL3-32D  [34H9 *3%2 | 2 [|3H9'3%® | 30| 6 O (FH57mmn)
MHSL3-40D  |42H9 *3%% | 2 [ 4H9'3%° | 40| 8 O
MHSL3-50D  |52H9 3% | 2 OJ4H9'3%° | 40| 7 O G/
MHSL3-63D  [65H9 3% | 2.50/5H9*3%° | 50| 7.50
MHSL3-80D  [82H9 3% | 3 |6H9Y™® | 6 |9 7T
| MHSL3-100D - 125D | @\ -
S-aSATILESBIRSC (TR 1)
P.C.D.R (%#:HL) .
6 TAIRZLIRTE ] 22 WAZEWB
I Fe 2 IR et
[
Q
N p|
- R A“ - I -«
S i ofg g
SR 8B EEL
o X LTt 5IE F’beh
& e ST
NB AR
NA e | e AD 3-UAZZr i UB
5D H G P.C.D.R (%% HIRE0)
(mm)
ne AA | AB [Ac |AD | BA BB |BC |[BD|CA|[cB|DO|[DC|EO|EC|FX|FY |[FZ| G | H I J | K
MHSL3-100D | 1350] 1290 6 780) 1340 184001346 | 560 180 44.500 1030 790 650| 410| 590| 540| 100| 860 310| 140/ 380 150
MHSL3-125D | 175 | 167 | 8 | 102|166 | 234 |1666| 66 | 24 |54 |132|100| 80 | 48 | 74 | 68 | 12 112 | 43 | 17 | 52 | 21
- L M | NA NB NC | O P Q | R [SA|sB |sc TA B UA UB VA
MHSL3-100D | 8H9 *5%6 | 40| 3701 18h9 3oy | 210| 7.50 Rcl/4 | 230[11800 90|14 [ 310 M8x125 | 16 | M8x1.25 | 1600| 8H9'3%8
MHSL3-125D [10H9 *3%%¢ | 6 | 43 [ 22h9 9o, | 25 [105| Rc3/8 | 31 [148 | 11 [17.5| 32 | MIOXx15 | 20 | M10xl5 | 20 |10H973%
BE VB WA WB XA XB
MHSL3-100D | 60 [102H9*3%7 | 40| 8H9 *5%6 | 60
MHSL3-125D | 8 |130H9*3'® | 6 [10H9 *3%° | 8

http://ww.slgd.cn



http://ww.slgd.cn

SN (AT AR/ dub BB
MHSH3Z 51| (216 ~ 280)

SN
% (mm) 0 160 | 200] | 2501 | 320 | 400) | 500 | 630 | 80
EaihntaS 722 h)
i L1 DT (MPa) B 0.2~0.600 | 0.1~0.6
IRBE B il g il -10°C~60°C ({HA1:4k)
A HEE(mm) +0.01
et o FAEE (c.p.m) B 12000 | 600 30
EIZES MR
*HERCEREHN) | M0 90 210 360 620 9701 1550 | 2800 400
1£0.5MPaltf N0 150 260 450 770 1180 | 1870 | 3290 | 490
O BT ALIL A (mm) [B3H10(]" | @3H1013" | @4H1013™ | 86H107™ | 210H10%™"| 212H108™"| 216H10 | @20H107; ™
FEHATRE(ELA2) (mm) 0 40 40 60 80 80 120 160 20
« e g, 916 ~ 9252520mm, g32~263430mm, @80 450mm,
.o L8 (AT KRt L R GRS
(KAL) SURELAE (mm) 0320|400 500 630| 800  <JRELAZ (mm) 0320 400 500 630| 800
U HERES AT/ (mm)  |0120( 200 250| 320( 40 rhueEREZ TR (mm) |0 50| 50| 100 100| 150
i A 2R (AN ) 5% ) (N) [6~1011~15[P20~25[29~34[49~59
1 FFE S TG FEl (MPa) @.2~0.6[|m 0.1~0.6
PREE R R i 00-10C~60°C ({HA#:4E)
ik 2 e B S B (c.p.m) |00 600 30
AMETR WA
Heit B4R (mm) 0 50| 50 | 100/ 100 150
etk 24 H(N), H4(0.5MPalk) 0450|1300 204 3350 524
1] = e
BSRTIE s WA LR U L
WEAETT A% TR &, IR SR A
iig| 24 0 O°URH-—Lr b airer—Kis
I:I e —14
MHSH 3 _ D —[M9N S i MHSH3-32DA-M9IN
T T n | 0t emumE—24
B AL OHESE B E—2 . . “pn
rORE 3R MR KAPHLS*Es-;‘SSA-Ms;Nzt }/@"&1*4/'\”5)‘ 4
[ 2 58
Tids | k& (AR WEPEIF A
*J A 16| 16mm Bk g Fin e TCHEHEIF I
" 516,020,025 _20[ Zomm | SR E 2| aaman
AAHEB R E 25mm FF‘L‘*EJ&E? Fids T%HQ‘(CR) %m%
32| 32mm Tids| k wmEk U MON(V), M9B(V)
- - O M9P(V),F9BA
A
40| 40mm LA (FKM) et 5 A RIS 4 K i
50 | 50mm B [##EK e JeiaE - 0.5m, L-3m, Z-5m,
63| 63mm * 916,820,025 (si)
_80 | 80mm AR ey,
R EHSRAE GRS RRAE e
MHSH 3 — A —[M9N s ch L S
y— AW -—
0 B AL REPETF M (SN
Tids| 24
SR S “
% jﬁmm BT 7
49| 40mm (L)
50 | 50mm "I"'D*ﬁlﬂ:%‘%ﬁﬁ&\ - J’W
D g 4 o3 | 63mm AU FRD | ) GRS 33
80| 8omm B [Bse A (3 ER) ST

0 MON(V), MIB(V)
0 M9P(V),F9BA

TEREVEIF RIS R R I Lk K LS
it —0.5m, L-3m, Z-5m,

http://ww.slgd.cn




http://www.slqgd.cn

SINEFE)(EATHFAE - PORIEFL): MHSH3ZR S
SMERSTE (ZEX)

MHSH3-16D ~ 25DI P 3-M4 X 0. 74250758
Froew\. CB CA 4

6-M3 X 0.588 4% TB
B2 255 FHIR AL olo
=\ ww °
218 £z g_ﬂ & 8§
= E K= <| m| O
K|E — -—| 0| | @
- bl Rt 8| v ® +0.025 J
\ @3H97% 73
] ° | ¥t ;
[©7 > Y oWAZL5
? €12 BD P
NB o (FHRM1E )
2 | G
NA N ‘
ra—> AC AD AE
3-83.201 1L SB4 AA
P.C.D.R(Ze% I L) (mm)
ae AA|AC| AD | AE |BA| BB |BC|BD|CA |CB | DC | DO |EC |EO |FX| G |1 |J |[K|[NA| NB |O P |Q/R|[SB|TB| WA ZA
MHSH3-16D |46 | 7 |10.5/28.5|30[30.5|34 |27 | 7 |14 |17.5]|19.5(7.5| 9.5|12|32|4|10|4| 8 |5h9 S¢s0| 2 |[M3x0.5|6|24| 6 | 5 | 17H9"3%3 |3H10 5240
MHSH3-20D |49 | 7 | 12 | 30 |36(36.5/40 (28| 7 |14 | 20 |22 | 8 | 10 | 15|34|5[12|5|10|6h9.9030|2.5|M5X0.8 |7 [29|6.5| 6 | 21H9 *3.952 |3H10 .04
MHSH3-25D |55 | 8 | 13 | 34 |42 [42.5]47 |32 |7.5 [17.5]23.526.5|9.5 [12.5) 18|38|5|14(6| 12 |6h9 §os0| 3 |M5x0.8|8|34[6.5]| 6 | 26H9*0952 |4H10*004
MHSH3-32D ~ 80DI P
(FHEIFHE )
6-TABAIRTE , CB.cA ) 3-UAIZLLEUB
3-aSANLILIESBESC
P.C.D.R(Z4<HIHL) _ @
ﬁ I
N F
& lgalg
8 B [SIERSEE ST
y X 7 =2 _|zg
& ) o| oo n X::
V] a j::; M
=g o Hm: S - BD P
© it M I G (a0
B3 11
NB ac| | AD AE (FHiAER)
NA AA
(mm)
BE AA |AC | AD | AE |BA | BB |BC |BD |CA|[CB|DC |DO |EC|EO|FX | G J | K L NA| NB [¢)

14 |8h9 Joz6 | 4.5
16 [8h9 Sozs | 4.5
18 [10n9 Joss | 5
24 1209 043 | 5.5
28 |14h9 3043 | 6

I
MHSH3-32D | 63 | 9 |155|38.5| 54 | 545| 62 | 36 | 9.5 | 19 [31.5|35.,5[11.5[15.5| 22 [435| 6 | 20 | 9 |2H9 3%
MHSH3-40D | 66 | 9 [17.5/39.5| 62 | 625| 72 | 37 |10.5| 19 | 36 | 40 | 15 | 19 | 26 | 45 | 7 | 21 | 9 |3H9}®
MHSH3-50D | 80 | 10 | 21 | 49 | 74 | 745| 84 | 46 |11.5|265| 42 | 48 | 18 | 24 | 32 |55.5| 9 | 24 | 10 |4H9 3%
MHSH3-63D | 91 | 12 | 26 | 53 | 92 | 925[102 | 50 | 13 | 28 | 51 | 59 | 23 | 31 | 40 | 61 | 11 | 28 | 11 [6HY "3
MHSH3-80D | 108 | 15 |31.5|/61.5/112|1125]|125| 57 | 14 | 31 | 63 | 73 | 31 | 41 | 50 | 72 | 12 | 32 | 12 |8H9 %%

Bs P Q| R|sA[sB|sc| TA |TB| UA |uB| VA |vB| WA |[WB| YA |YB| ZA [ZB|zZC
MHSH3-32D | M5X0.8 | 11 | 44 |42 | 8 | 7 | M4x0.7| 8 |M5x0.8| 10 |4H9 7% 34H9 %2 | 2 |M4x0.7| 8 |6H0P™ | 74| 9
MHSH3-40D | M5x0.8 | 12 | 52 [42 | 8 | 7 |M4X0.7| 8 |M5X0.8| 10 |4H9 '3 QH9*2 | 2 |MAX0.7| 8 [10HI0T™ [11.4] 9
MHSH3-50D | M5x0.8| 14 | 63 |51 |9.5| 8 |M5X0.8| 10 | M6X1 | 12 |5H9 "3 52H9*00™ | 2 |M5x0.8| 10 |12HI0% [13.4] 10

8
8

AlwldvivIvIZ

MHSH3-63D | M5x0.8 | 17 | 78 | 6.6 | 11 M5x0.8 | 10 | M8x125| 16 |6H9 ‘3% 65H9 "3 | 2.5 | Mex1 | 12 |16H10°3° [17.4] 12
MHSH3-80D Rcl/8 | 20 | 98 | 6.6 | 11 M6x1 | 12 | M8x125| 16 |6H9 *H0% B2HY*3%7 | 3 | MEx1 | 12 |20H10°3%* |21.4| 15

MHSH3-32DA ~ 80DA I MHSH3-32DB ~ 80DBI
M5x0.8

oo |0~

I
I
I
I
T FX | w
it B ZF g RERERIIA e | s
R 2G a ! @
1 | =
I
Wi (O | _ LrH
T | |oojm|@ | )
o SIS
N[ |
] pall |
| ||
' AH
|AH| | AJ| [AG
AG I AR
(AF) | e ]
() ! « Hf AR R 5 2 2R
nE AF|AG|AH|AJ|BE| BF [BG|cc|Fx| uc |ublUE| VA |vB|zD|zE|zF|zG| zH |zIlzd | &=  |AF|AG|BE| wC |wD
MHSH3-32DA[35| 26| 9 | 9 |30(32h9 906, | 535 | 9.5 [22[M5x 0.8 | 10 | 5.5|4H9*3%%0 6|5[20/15|M3x05|6 (3.5 | MHSH3-32DB| 18| — | —[20%3'| 1.5

4
MHSH3-40DA| 36 | 27 | 12| 90} 38| 409 s | 615 |13.5/26 |M5x 0.8[110 | 5.5|4H9*3%%| 4 |10| 8 [21|16 | M5X0.8[10|4.5 | MHSH3-40DB| 21| — | —|24731|1.5
MHSH3-50DA | 44 | 33 | 15| 11(48|50h9 346, | 735 [17.5[32| M6X1 |12|6.6|5H9*3%°| 5 |12|10|28|18 | M6X1 |12| 5 | MHSH3-50DB|30| 19 | 48[32*3!|1.5
6
6

MHSH3-63DA| 48 | 35 | 18 | 13158 | 60h9 947, | 915 | 20 |40 [M8x 1.25| 16 | 8.6|6H9*3.030 16|14|32| 22 [M8x1.25(16| 7 : MHSH3-63DB | 35| 22 | 58 [42*01| 2
MHSH3-80DA |58 | 45 | 20| 13|68 | 7009 3474 |111.5| 25 |50 |M8x1.25| 16 | 8.6|6H9*J0% 20|17|41|26 |[M10x15 |20| 8 | MHSH3-80DB| 48| 35 | 68 |52°3" | 2

http://www.slagd.cn



http://www._slqd.cn

SMEFE)EATHFAE - fLRiEFL): MHSH3ZR S
SMERSTE (ZX)

MHSHJ3-32D ~ 80D I

6-TAALRTB P
Fi P2k IR AL (FHFFE )

3-UAIZZ 1 UB
P.C.D.R(Zz3: HIH2LL)

CB _CA
3-YAIZZEYB
(\
V@R
—_ — —o
alo 1] =
S
218z
Z|E
sE |7
k.
=Ty /] P
. (FHgHE H)
-GSAYLALIESBR
AC AD AE
P.C.D.R(Z%HIL) .
AA
(mm)
e AA | AC| AD | AE | B CA | cB | DC | DO | EC | EO | FX | HA [ HB | J | K L M NB
MHSHJ3-32D | 63 3 24 | 36 | 54 95 | 19 | 315 | 355 | 115 | 155 | 22 | 76 65 | 20 | 9 | 2H9 Q95 | 2 | 8h9 .9 us
MHSHJ3-40D | 66 3 26 | 37 | 62 | 105 | 19 36 40 15 19 26 | 86 75 | 21 | 9 | 3H9*9%% | 2 | 8h9 Jos
MHSHJ3-50D | 80 3 31 | 46 | 74 | 115 | 265 | 42 48 18 24 | 32 | 103 | 88 | 24 | 10 | 4H9 3% | 2 | 10n9.3 s
MHSHJ3-63D | 91 4 37 | 50 | 92 13 28 51 59 23 31 | 40 | 125 | 106 | 28 | 11 | 6H9'}%0 | 3 | 12h93 .45
MHSHJ3-80D | 108 | 5 46 | 57 | 112 14 31 63 73 31 41 50 | 158 | 130 | 32 | 12 | 8H9 396 | 4 | 14h9 04
) 0 P Q| R|SA|SB|sc TA B UA UB VA VB WA WB YA YB ZA
MHSHJ3-32D | 45 | M5x0.8 | 11 | 44 | 42 | 8 7 | M4x0.7 | 8 | M5x0.8 | 10 | 4H9 59 | 4 | 34H9*3%2 | 2 | M4x0.7 | 80| 6H10*304
MHSHJ3-40D | 45 | M5x0.8 | 12 | 52 | 42 | 8 | 7 | M4x0.7 | 8 | M5x0.8 | 10 | 4H9 3930 | 4 | 42H9*2%%2 | 2 | M4x0.7 | 80|10H10*J%%®
MHSHJ3-50D | 5 | M5x0.8 | 14 [ 63 | 51 [ 95 | 8 | M5x0.8 | 10 | M6X1 | 12 | 5H9*3%0 | 5 | 52H9*0™ | 2 | M5X0.8 | 100J|12H10*397°
MHSHJ3-63D | 5.5 | M5X0.8 | 17 | 78 | 6.6 | 11 | 8 | M5X0.8 | 10 | M8x125 | 16 | 6H9 *3%%0 | 6 | 65H9*3%* | 2.5 | M6x1 | 120]|16H10*3°
MHSHJ3-80D | 6 Rcl/8 | 20| 98|66 | 11 | 8 M6x1 | 12 | M8x125 | 16 | 6H9 *3%0 | 6 | 82H9*0%87 | 3 M6x1 | 12 |20H10*3084
I
MHSHJ3-32DA~80DAI : MHSHJ3-32DB~80DBI
|
I
I
deomy |
ZHIBALRZ) M5x0.8 | u
. (R 25 2 Il 1 : ;‘;
EE oy T L R S
TR ZG 3-UcC BEAZEUD : T
JE— — - |
—) =5 N N
H I
—\ |
Ei,i@i,,iQ,i | L
alw q | —
r;N‘ |
Z) o
: AH GWCEEWD
| Al | [AG
— AH ! =
AJ AG _ > I
(AF) (i Atk @ 1) :
-
(mm)
e AF|AG|AH|AJ|BE| BF |BG|CC|FX| UC |[uD| VA |vB|ZD|zZE|ZF|zG| zH |z1|ZJ B2  |AF|AG|BE| WC |WD
MHSHJ3-32DA 35|26 | 9 | 90030 [32h9 306, [53.5 | 9.5 | 22 |M5x 0.8 10 |4H9*30%0

MHSHJ3-40DA (36|27 |12 | 9[J 3
MHSHJ3-50DA 44| 33 | 15 |11[H4
MHSHJ3-63DA |48 | 35 | 18 | 13[5!
MHSHJ3-80DA

o0

409 9 o6, | 615 [13.5] 26 |M5x 0.8| 10 |4H9*39%0
5009 9 o6 [ 735 [17.5[32| M6X1 |12 |5H9*3%0
60h9 9 074|915 | 20 |40|M8x1.25| 16 |6H9*90%0
45 (20 [13]68|70h9 J o7, [1115| 25 |50|M8x 1.25| 16 |6H9 50

10| 8 [15[10 | M5 0.8 |10 |4.5 MHSH3-40DB [ 21| — | —[24*3|1.5
12(10(21]11| M6x1 |12| 5 MHSH3-50DB | 30| 19 | 48 [32*3%[ 1.5
161424 |14 | M8X1.25|16 MHSH3-63DB | 35 | 22 | 58 |42*31| 2
20|17|31|16 |M10x1.5 [20 | 8 MHSH3-80DB | 48| 35 | 68 |52*51| 2

* ARTEWIRT 522841

[e)
N

s
(2]
~

I
I
I
|
|
6|5 (14| 9 [ M3x05 |6 |35 : MHSH3-32DB| 18| — | — [20*3%| 1.5
|
I
I
|
I

oo oA~

a
ee]

http://ww.slgd.cn





